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LL.B. DEGREE EXAMINATION, JANUARY 2010.
First Semester
(Common for I/IIT and III/V candidates)
Paper I — CONTRACTS -1

(General principles of Contracts (Section 1-75) including
Specific Relief Act)

Time : Three hours Maximum : 100 marks
PART A — (6 x 4 = 24 marks)
Answer any SIX of the following questions.
1 Cross Offer.

2.  Conditional Acceptance.

Contingent contract.

Mistake of Law.

3.
&
8.  Agreement in restraint of marriage.
6~ Anticipatory breach.

i

Vindictive Damages.
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12.

13.

Mandatory injunction.
Executory contract.

PART B — (2 x 18 = 36 marks)

Answer any TWO of the following questions.

Define a ‘contract’ and state what are its essential
elements.

“An agreement without consideration is void”. Do
you agree? State exceptions, if any.

“An agreement in restraint of Trader’s void”.
Explain.

State the circumstances in which the remedy of
“specific performance” will be granted by the
courts.

PART C — (2 x 20 = 40 marks)
Answer any TWO of the following questions.

‘A’ put up a notice in the Hostel Notice Board that
he lost his ‘Keys’ and would give Rs. 100/- to any
one that gives the keys. ‘B’ a friend of ‘A’ gave the
keys. He came to know about the award later and
asked for Rs. 100/-. Should ‘A’ pay?
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16.

17.

18

‘S’ agreed to sell his house to ‘B’ for Rs. 10,00,000/-
‘B’ has to pay the amount on or before 01-02-09
and the house to be handed over on payment. On
25-01-09, ‘S’ sold the house for Rs. 12,00,000/- to
‘P’ and handedover the house. ‘B’ on 30-01-09
offered the amount of Rs. 10,00,000/- and asked ‘S’
to sell the house. ‘S’ informed ‘B’ that he already
sold the house to ‘P’. Can ‘S’ do so?

‘M’, aged 14 years joined a cricket coaching
academy and agreed to pay Rs. 10,000/- as fee for
coaching. He paid Rs. 2,000/- as advance. He
received coaching as promised. When the cricket
coaching academy demanded the balance amount

of Rs. 8,000/-, ‘M’ refused to pay. Is ‘M’ bound to
pay?

‘Q has to pay Rs. 10,000/- to ‘R’. ‘Q saw ‘Z’ and
thought he is ‘R’ and gave Rs. 10,000/- to ‘Z’. ‘Z’
resembles ‘R’ physically, ‘Q’ realising the mistake
committed by him, sought to recover Rs. 10,000/-
from ‘Z’. Is ‘Z’ bound to return?
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